¥ 2 3400-CN

B®

REREL
26 %5l

DIN - 2l

CA A-50

24°ERNIRL - BRT
-OFZHE - HiEsk

CE A-50

24°HENIRY - 2R
- O - 45°3%k

CF A-51

24°HENIRLL - 12 RT
- O - 90°3%k

SAE

01 A-51

WS

NPTFIMEZL - Bk

06 A-52

&=

JIC 37°HERIRLL
- Bk

08 A-52

B2

SAE 45°% - I24L
- HiEk

68 A-53

|

JIC 37°/SAE 45° 34
- By - B

ORFS

JC A-53

L=

ORFSHH#24 - Hi%Ek

- 45

o
R
2
«
e
$an
=
A

‘ 0 WEELRIEE

‘ O BRRIEL

Lith ™= 5

[\

A-49

#7ZK 3400-CN



¥ 2 3400-CN

amr s
BRERL
A F201, 213, 221FR, 244, 285,
293, SS23CG, SS25ULEE

26 %5l

1CA26

A4 HNRECHORE - BRY - H#Eesk

ISO 12151-2-SWS-L — DKOL

o
.3 B # [N (®) )
i - B BE 9By REAR 1D A B w
il NGl inch mm mm mm mm
~ 1CA26-6-4 6 M12x1.5 3/16 5.0 40 20 14
i{_nl 1CA26-8-4 M14x1.5 3/16 5.0 41 21 17
Il 1CA26-10-5 10 M16x1.5 1/4 6.3 41 20 19
A 1CA26-10-6 10 M16x1.5 5/16 8.0 41 20 19
1CA26-12-6 12 M18x1.5 5/16 8.0 41 21 22
.| 1CA26-12-8 12 M18x1.5 13/32 10.0 41 21 22
W 1CA26-15-8 15 M22x1.5 13/32 10.0 42 21 27
1CA26-18-10 18 M26x1.5 1/2 12.5 46 23 32
1CA26-18-12 18 M26x1.5 5/8 16.0 46 23 32
1CA26-22-12 22 M30x2 5/8 16.0 48 25 36
Q(HI 1CA26-28-16 28 M36x2 718 22.0 54 28 41
;g( 1CA26-28-20 28 M36x2 1-1/8 29.0 60 34 41
[:% 1CA26-35-20 35 M45x2 1-1/8 29.0 56 29 50
7,‘K 1CA26-35-24 35 M45x2 1-3/8 35.0 62 34 50
ﬂﬁ 1CA26-42-24 42 M52x2 1-3/8 35.0 59 31 60
i
i
B
1CE26
224 HEMIRSHOME - R RT - 45°%&L
ISO 12151-2-SWE 45°-L — DKOL 45°
w # (A (@) ()
, ' 'x;\ . i s B2 REANEZI.D. A B E w
] E '\ """"" Nl inch mm mm mm mm mm
% ' , g 1CE26-10-6 10 M16x1.5 5/16 8.0 66 45 17 19
-'_-Fl? 4 o 1CE26-12-6 12 M18x1.5 5/16 8.0 66 45 17 22
= I 1CE26-12-8 12 M18x1.5 13/32 10.0 59 39 17 22
C i i 1CE26-15-8 15 M22x1.5 13/32 10.0 60 39 17 27
1CE26-18-10 18 M26x1.5 1/2 12.5 69 46 21 32
1CE26-18-12 18 M26x1.5 5/8 16.0 73 50 22 32
1CE26-22-12 22 M30x2 5/8 16.0 77 55 26 36
1CE26-28-16 28 M36x2 718 22.0 103 76 33 41
08
L
<=
1
D
HARTIESE, BULRERRTHE.
A-50 ¥ 3400-CN



REREL
26 %5l

¥ 2 3400-CN

AT F201, 213, 221FR, 244, 285,
293, SS23CG, SS25ULIE

1CF26
Af24°5EMIREGEHFOME - BRI - 90°4::L

ISO 12151-2-SWE-L — DKOL 90°

X
# (VWY (@) () [ 5
Bs HREY RENE I.D. A B E w ] SK
2Nl inch mm mm mm mm mm c ﬁ
1CF26-8-4 8 M14x1.5 3/16 5.0 48 28 29 17 i) 3 -
1CF26-10-5 10 M16x1.5 1/4 6.3 55 36 29 19 ) ‘;Z i{ln
1CF26-10-6 10 M16x1.5 5/16 8.0 55 34 31 19 F—— ) il
1CF26-12-6 12 | M18x15 | 5/16 8.0 56 35 35 22 # I | A
1CF26-12-8 12 M18x1.5 13/32 10.0 51 30 31 22
1CF26-15-8 15 M22x1.5 13/32 10.0 58 38 41 27
1CF26-18-10 18 M26x1.5 1/2 12.5 57 34 38 32
1CF26-18-12 18 M26x1.5 5/8 16.0 69 46 45 32
1CF26-22-12 22 M30x2 5/8 16.0 78 55 47 36
1CF26-28-16 28 M36x2 718 22.0 95 68 71 41
1CF26-28-20 28 M36x2 1-1/8 29.0 117 90 81 41 P(Hl
1CF26-35-20 35 M45x2 1-1/8 29.0 117 90 77 50 ;.g(
1CF26-35-24 35 M45x2 1-3/8 35.0 117 89 79 50 [:g
4
oy
R
i
10126 B
NPTFMRL - Bk
SAE J476A/J516 — AGN
# (Y (@) (Y A |
e $Eey BREMEZ LD. A B H <i>| ‘
NPTF inch mm mm mm inch
10126-2-4 1/8x27 3/16 5.0 42 20 7116
10126-4-4 1/4x18 3/16 5.0 48 26 9/16 d{
10126-4-5 1/4x18 1/4 6.3 48 26 9/16 ‘_lﬂﬁ
10126-4-6 1/4x18 5/16 8.0 48 26 3/4 ﬂ
10126-6-6 3/8x18 5/16 8.0 48 26 11/16 éﬂ
10126-6-8 3/8x18 13/32 10.0 48 26 11/16 H
10126-8-8 1/2x14 13/32 10.0 54 33 718 C
10126-8-10 1/2x14 1/2 12.5 57 33 718
10126-12-12 3/4x14 5/8 16.0 59 35 1-1/16
10126-16-16 1x11-1/2 718 22.0 66 40 1-3/8
10126-20-20 1-1/4x11-1/2 1-1/8 29.0 72 45 1-3/4
10126-24-24 1-1/2x11-1/2 1-3/8 35.0 76 49 2
10126-32-32 2x11-1/2 1-13/16 46.0 87 55 2-1/2
02
;8
2
[\
D
HARTRESE, EURGRERRTAE.
A-51 #£7< 3400-CN



Y
%
R
X
o
t
ﬁ
A

ERRRE

0 &EEE

DN
~

R ¥R I

(@

Hit =

O

¥ 2 3400-CN

26 %5l

10626

JIC 37°H UL - EiEsk

ISO 12151-5-SWS-DKJ

mEHEL

ATAF201, 213, 221FR, 244, 285,

293, SS23CG, SS25ULEE

# (g (@) ()
BS SR4Y HREME I.D. A B H
UNF inch mm mm mm inch
10626-6-6 3/8 9/16x18 5/16 8.0 45 23 11/16
10626-6-8 3/8 9/16x18 13/32 10.0 52 30 11/16
10626-12-12 3/4 1-1/16x12 5/8 16.0 43 19 1-1/4
10626-16-16 1 1-5/16x12 718 22.0 47 21 1-1/2
10626-20-20 1-1/4 1-5/8x12 1-1/8 20.0 50 24 2
10626-24-24 1-1/2 1-7/8x12 1-3/8 35.0 53 25 2-1/4
10626-32-32 2 2-1/2x12 1-13/16 46.0 64 32 2-7/8
10826
SAE 45" #:PI24 - EiEsk
SAE J516
A
5 # (Y (@) (Y
BS $R4Y HREME I.D. A B H
UNF inch mm mm mm inch
10826-6-6 3/8 5/8x18 5/16 8.0 47 25 3/4
10826-10-8 5/8 7/8x14 13/32 10.0 56 34 1
10826-10-10 5/8 7/8x14 1/2 12.0 54 30 1
W 10826-12-12 3/4 1-1/16x14 5/8 16.0 56 32 1-1/4
HARTRESE, EURGRERRTAE.
A-52 #7 3400-CN



A 3400-CN REREL

ATEF201, 213, 221FR, 244, 285, LEX]
293, SS23CG, SS25ULE &

16826
JIC 37° /| SAE 45° i - MI24 - HiEsL

ISO 12151-5-SWS-DKJ

A | |
# (VY (@) o 3 2
<——‘ >
oS LS REMNE LD. A B H ‘ K
UNF inch mm mm mm inch ﬁ
16826-4-4 1/4 7/16x20 3/16 5.0 42 20 9/16 -
16826-4-5 1/4 7/16x20 1/4 6.3 48 26 9/16 i 7 - i[_"("
16826-4-6 1/4 7/16x20 5/16 8.0 39 17 9/16 i
16826-5-5 5/16 1/2x20 1/4 6.3 45 23 5/8 \\; A
16826-8-6 1/2 3/4x16 5/16 8.0 56 34 7/8 W
16826-8-8 1/2 3/4x16 13/32 10.0 49 27 7/8
16826-8-10 1/2 3/4x16 1/2 12.5 60 36 7/8
16826-10-10 5/8 7/8x14 1/2 12,5 55 31 1
16826-10-12 5/8 7/8x14 5/8 16.0 61 37 1
o
K
Fl
1JC26 S
ORFSH#RLY - L - @R B
ISO 12151-1 — SWSA/ SAE J516 — ORFS
# W (@) (1D S A
Be oY sEM@ID. | A | B | C | H | W —j_‘—j
UNF inch mm mm mm mm inch inch
1JC26-4-4 1/4 9/16x18 3/16 | 5.0 42 20 8 9/16 | 11/16 l\\\\ -
1JC26-6-6 3/8 | 11/16x16 | 5/16 | 8.0 43 21 9 11/16 | 13/16
1JC26-8-8 1/2 | 13/16x16 | 13/32 | 10.0 45 23 11 | 13/16 | 15/16
1JC26-12-12 3/4 | 1-3/16x12 | 5/8 16.0 54 30 14 | 1-1/8 | 1-3/8 \—W H n
1JC26-16-16 1 1-7/16x12 | 7/8 | 22.0 61 34 14 | 1-3/8 | 1-5/8 K
1JC26-20-20 | 1-1/4 | 1-11/16x12 | 1-1/8 | 29.0 62 35 15 | 1-7/8 | 1-7/8 g
.EK

@

Lith ™= 5

[\

AR S E, EULRERRT A,

m A-53 ¥ 3400-CN




	74 3400-CN2018 Linked-1102（更新完成）
	软管，接头及设备
	软管接头
	26 系列




	Button1: 
	Button2: 
	Button3: 
	Button8: 
	Button4: 
	Button5: 
	Button7: 
	Button6: 


